2 kg €] gl 6125 012k k. o] i 3.11kg ] 7 Auprt
S W Hste] 4| A7 T L.
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> M 38109
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(A3 3.11kg 2 %)
(Wi 1kg 9] #h) x3.11
(6125 =+ 5) x 3.11
=1225 x 3.11

=3809.75 — 3810(Y)
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2. 328x14=4592% 1] E&1 A

D 328 x 1.4 = 459.2 @32.8 x 0.14 = 45.92
@ 328 x0.14 = 45.92 @ 3.28x 1.4 =4.592

® 3.28x 14 = 45.92

B

327 x 4 = 4592
1
OFH 517

1 1
328 X 14 X —— = 4592 X ——
1000 59 1000

32.8 X 0.14 = 4.592
45.92 — 4.592
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@02%x15x5=03x5=1.5
O©28x05x2=14x2=28

© 3.07%x25%x2="7675%x2=15.35

Ast A7t 242 eAHE 7188 2H G, ©, ©YYH.
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@ 1.6x4.2x5 © 42x6.3%x8
©® 25%3.7%x6
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> H

> E

> & O

> Ee: ©

>EE: O

B

@ 1.6x42%x5=6.72x5=33.6

© 4.2%6.3%x8=26.46x8 = 211.68

© 25x3.7x6=925%x6=555

ALt A7t 2 =AYR 7|28 23 ©, ©, OY4Th
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[ ]x524 =1362.4
[ ]=1362.4+524

[ ]=26

— 2.6 X 5.24 = 13.624
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>
> ®ehl o 16.11

2.3%x7=16.1,
40.3x 0.4 = 16.12
16.1 2t 3237 16.12 Bt} 22 A4 T 2FE]4+= 16.11 Yy ).
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29| 7])= (F&°19] 7])x1.06
= 134.5 x 1.06 = 142.57(cm)
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A0 BA 1 47 x 4.5 = 21.15(kg)
ek BA| 1 5.9 % 8.5 = 50.15(kg)
= 21.15 + 50.15 = 71.3(kg)




10.

7tz0] Zol7} Aol Aol 0.8 el A2 mape] gol

ok Az o] o7t 9.5m o ¥, BO] Hole

» g m?

> ®Heh 722m?

(el gol)
= (7F29] Aol)x (A= Zol)
= 95%0.8x9.5=72.2(m?)
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48x2X35x2=096X7=67.2(cm?)




12.

827 x 512 = 423424 & o|-got, A4S AR A& o] A
717

@ 0.827 x 512 = 423.424 @ 8270 x 0.512 = 4234.24
@ 0.827 x 512 = 4.23424 @ 827 x5.12 = 4234.24

® 827 x0.0512 = 42.3424

1A

B

827 X 512 = 423424

1 .
ORSE m%s}ﬂ

1 1
2 12x —— = _
827 X 5 XlOOO 423424><1000

0.824 x 512 = 423.424
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7.25x24x[_|

725 x 24 x[_| = 174 x[_|7} 78 F& Ad57t HA 5t
2, F0] 254 o) 2] 71 0 0] F o Az ojof Fyrt.

4x1=4,4=8,4x3=12,4%x4 =16,
4x5=204x6=24, --- A 4x5=202=2 EX&7} 0°]
5B g 571 Soj7lok g




14. o 9 At AA57} 2 ), [ oke] Soiz A &
s dntelx] FakA L.

5.25x2.4x[_|

B

5.25x2.4x[_|=12.6x[_|7} 7P¥ F2 257} 54 s,
Fo| &5H ol Bt £7% 0 0] F o] AFE|ofof gt
6x1=6,6=126x3=18, 6x4 =24,
6x5=30,6x6=36,--°4 6x5=3022 Ezt&|7} 0°]
F|B & 57} Eo]7tof gt
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z

=
[ Jerel 27 7P e AL ol AU

@[ x18 =531 @ 29.5x[_|=53100
® [ |x018 =531 @ 2.95x[ |=531
® [ ]x0.18 =531

~&B

295 x 180 = 53100

1
oFH 1517
© Fhl 15555 T

1
10000 — 23199 % 15000

0.295 x 18 = 5.31

[ ]=0295

I oy =
@ =l 1—0%'—63 =, 1055171

295 x 180 x

—_

295><180><—><10:53100><i><10

10 10
29.5 x 1800 = 53100
[ ]=1800
® ol B3N]
205 x 180 X ——— = 53100 X ——
1000 1000
295 x 0.18 = 53.1
[ ]=295

1 _
oF 35
@ FH Tk 171

1 1
295 x 180 x 100 = 53100 x 100

2.95 x 180 = 531

[ ]=180
1 oo o
® g m:l'ﬂl@' 3, 10&55t7]

1 1
295><180><m><10—53100xm><10

2950 x 0.18 = 531

[ ]=2950
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17. AL 237t A2 MU= 7198 2AL,

@ 54x39 © 3.49x25 ® 53.9x6.8

® 8.92x2.38 @ 4.26 x 5.58 ® 6.07 x4.53
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g
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o
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I

0
I

v v v Vv Vv VvVvvyvVvvVvyvVvyYyYyypy
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® ©®@ @ @ @ ©
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@ 5.4 % 3.9 = 21.06

© 3.49x 2.5 = 8.725

© 53.9 % 6.8 = 366.52

@ 8.92 x 2.38 = 21.2296

@ 4.26 X 5.58 = 23.7708

@ 6.07 x 4.53 = 27.4971

whebA] ALt A7 A2 AU 7125 21
©, 9,6, 6,6, 044t




18, oh&-g B 0.7 1009 FoHH &% 10097 2fele] sA1E dnp
Q17 5L,

0.7=0.7
0.7x0.7=10.49
0.7x0.7x 0.7 =0.343
0.7%x0.7x 0.7 x 0.7 = 0.2401
0.7x0.7x0.7%x0.7x 0.7 = 0.16807

\VARR 4
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~&B ~

0.7 10051 F51H, 4= oF 28] 45 100§ H5h= Ao R2
a2 a4 W 22 27F gy D9 ER A5 B 22| <]
2Ae 78 22 9 AU 075 o A 5 miuint
A4 B2 £E 7,9, 3, 10] §HES] v

0.7 1008 < W 25 2229 A= 194y




19. 7127} 64cmo], 27} 3.5cm el A Hlo]=E 783} 740] 0.9cm

B o]E FokA L.

3.5cm i
\

138& olo] Bonz FH FE2 1278 Jyrt. A glo|
mo| WA Aol 13742] Zololq H7 FEo| Lolg M Az}

Zong
6.4x13-0.9x%x12=283.2-10.8 = 72.4(cm) YYrt.
whabA] Yol 724 x 3.5 = 253.4( cm?) YU th




20. 175x320 = 56000 Y& o|-gsted, [ |& TS W) vp2A| 13 AL
ol ALY

® 175x32=] |[ ]=0.56
@ [ |x32=056] |=0175
® 1750 x| | =0.56,] |=3.2
@) %32 = 5600, | =175
® 175x] =56 ]=32

175 x 320 = 56000
1 .
ORSE m‘ﬁ?o}ﬂ

1 1

175 x 3.2 = 560
[ ]=1560

1
01:1:1]_:1
@ FHel 100000

Fa17]
1

100000 — *9%%0* 160000

0.0175 x 32 = 0.56

[ ]=0.0175

1
0]:]:&
@ FHlel 100000

175 x 320 x

H317]

—

1750 x 0.00032 = 0.56
[ ]=0.00032

1 .
oF 35
@ ol o 171

1 1
175 x 320 x 0= 56000 x 0

175 x 32 = 5600
[ ]=175

1 _
® FHo m{l’_?ﬂ'ﬂ

1 1
175 % 320 X —— = 56000 X ——
X220 X 1000 7000

175 % 0.32 = 56

[ ]=032




